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Did you hear from  — 7¥9RY %127 1130 KO 7799 YRR % InPonnn TN
him regarding an original 7¥1%; but rather it is for instance where he
damaged in an unusual manner and became a Mu’ad

OVERVIEW

STYOR ' maintains in the case of 7777 YvIw 273 that he pays a 191 w"1 for the w>7a.
One of the explanations offered was that X"9 agrees with 0121210 that M 17X pays a
W”J,l and X"7 also agrees with 777 '3 that n721v 7Pn2 Mnn 73.2 However Xn0 20
rejected this explanation, saying we find the ruling of n721v 721P1n2 NN 7X, only in
a case where initially it was a an and later it became a 7¥12; however we never
heard the concept of N 7MIPR2 NN TX in a case where it 1s a 7Y initially as in
the case of MMIX, where he initially pays a w"1 according to 012210. Rather we
must conclude that the case of 77717 YW 275 is where his damage by m¥ was
done in an unusual manner, which he did three times already and became a T¥n.
The dispute between X"7 and the o221 1s whether "°w "y M 17X can become a
791 and pay "1 (the view of X"9), or it cannot become a 7 and pays only a 11
(the view of the o°nan).”

= NN 29 9D MN 971 1YINT 1999 W92 DIVNPN NHDIN N
This is the text according to >''w9 (that 7y»X) 1W7 132 X7X), and ''w1 explains

(the view of the 73127); since he was TY"R, it becomes a ‘normal’ »m -
= NI P O8N 1NN DITVINY ININIIN 2D NNINIT 950 99)

And just like by normal regular ny719%, for which he is a 7¥12 initially (from the

very first time), nevertheless it pays a 1''1m and no more -
=103 NPYY NNIND ARTYN PRI INTINNND TYIMN NN NI TYIN) 2IYT 993 XN

This case too where initially it was unusual and he became a v (after three
times), it is not more strict than a case of 177X > M717%, where he is initially a

7v; so there is no becoming a 7v'» in a case where the M"19% are unusual.

This explains the view of the 7127.
= N3YT VIYAN 1991 323 NINIIN 2D MY NIDN 199D DHUNT 1INPTII

! According to this interpretation we can be v21D that Mm% 1"R pays only 1913.
%" maintains that when a 797 pays a w"3, only half can be collected 7»%v; however the original half (which a an
had to pay) can only be collected 19131 even after he became a 7¥1. Similarly by N1 7% according to 913110 (and X'")
where he pays a "1, nevertheless one half (of ninn) is paid only 1. This explains why the Xn>12 states that he
pays 1913 even according to X"1 who requires a @"1 payment, for the 1913 payment refers to the half of nn 7x.
® This is the X073 and view of XX 71"72 >"wA (on the 2 7Y) in the first Pwb.
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And since the X012 teaches that in the case of 7¥°X1 N1MIX2 1w he pays wwn, it
is apparent that by 7317 > M9 he also only pays 212, and we can resolve

the query of X239 (that Mm% 1" pays only 12).* This concludes (n5on understanding of)
7R

In summation; According to X0 27 the 7awn (and ¥n*>92) of 7777 HvIw 295 is discussing a 29
who is a 711 for "W *"y MM, and nevertheless he pays a 1'1, for it is not different than regular
Mm% (which is also a [\n2nnn] 7911), which pays only a 11, and since the Xn»92 states by mIx
TY»RY 1w "V that he pays 1912, the same applies to ¥707IX * MY that it pays a 1913 17

nooIN asks on >"wAD:
= 59919 NINTIN ¥ MY NNYT NAYT ND VIV 1IN nup

And there is a difficulty with this explanation; for how did the X3 resolve the
query of 829 (whether M7 1"1 is 191 or 7»%vn); perhaps by 759K 95 17919 he
pays mohymn -

= STy NNYPHNA NN 18T I0NN DYUN TYINT 22 HY AN 23T NI YaN
But where it was "2 by the m1¥ (as in the case of 2%3), he pays 12342 even
though that 7¥»R, the reason why he still pays 1912 is because 2yp22 nwn 7
DTRw —

mooIn responds to a possible resolution to his question:

- X297 NOYA LWONY SN RYT ) 597 PNT 9299 PN
And one cannot say; that indeed it so (as Mo0n claims that we cannot resolve
X277 X°v1), for X10 27 did not intend to resolve s'X39 query (regarding 1913 1'n by

mMMIY) -
- Toryn o m PNRT NN 12392 NN92N AW YIY 9999 Na NON

* The 1121 (seemingly) equate 37K *2 MY with 79X w7 ML (by both they pay a 1"n). Therefore since they
equate the two, we can derive 117K "3 MY from 7Y°°RY "1WT NMIY; just as by 7¥7°KX1 "1 he pays the 1"1 only 19131
(as the ¥n>>"2 stated), similarly by 17> °2 he also pays the 117 only 12131.
> mooin argues that we cannot compare PRAMK % MM with "W *"y MR (regarding paying 1273); for by nmmng
1w *"y while he is still a an, he most certainly pays only 1913» (for he is a an); therefore we can say that even after
he became a 7y he still pays 191 since DY PR NN 7¥; however by 77K °3 MMIX (since he is a ¥
nonnn) there is no reason to assume that he pays 1. See [however] ‘Thinking it over’ # 1. This distinction does
not apply in the reverse (regarding paying a 1"1). Here we maintain that just as 7°77IR "> MM pays a 117 (even
though he is a \n2nnn 7v11), so (certainly) 7v*>X1 11w >"y MM will also pay only a 1'1; for his becoming a 7v11 does
not make him a greater 7y that 7> *> MM1¥ which is a 1n%mnn 7911 and pays only a 1'7.
% moon is offering this resolution to justify the X073 only; however >"w" certainly disagrees with this interpretation,
for >"wn states clearly 913 11 IR 93 NIMIRT 120 RAK DA "INpTAY.
7 Generally in the X3 once we have rejected proof from a source by establishing it in a way that we cannot prove
anything from the source (as was done here, when the X713 said that it is a case of 1¥) it is highly unusual to
reestablish the source in a different manner which will also not prove anything (for nothing is seemingly
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But rather Xn0 27 just came to say that we can explain the Xn92 in another

way; this is not so, for this is not the way of the X923, Rather it seems from the flow
that Xm0 17 intended to resolve s'®27 query; however according to *"w191 no7°3 there is no
resolution.

mooIn offers his Xo7°2 and interpretation:
- 91”9:1 VYN 8N OLIYDY TYIINT 10D NON D931 D719 AN

And noon agrees with the 8093, which reads; ‘but rather we are discussing a
case where for instance the dog became a 7¥1%’, and really we can resolve the

query whether mM17X pays 1912 or not -
- 1929 ©IINMDT XN 9)P79 NHY 9399N 294 11 AYUPH X

And there is no difficulty with the view of X''9, for the 7127 and X"9, do not

argue in the same argument of 3339 N1520 (whether MMX pays w"1 or 1"n) -
- 1929 1199V %297 NN )1VINDT 23T K

And the X"™ 7127 are also not arguing, as we previously thought, in a case of

MW Y MMNY, in the same argument of 121291 ¥'' (whether 1P pays a proa1 nw2 w'™) -
- “w”x-r:n ININIIN 25 NN XONY DINNIDYT 19295 119995 NON

But rather both the 7127 and X"9 agree with the 229 who argue with ©1210 (and
maintain that M717% pays a 1"17), and here (by the 7771 S01w 25%5) we are discussing
a case of ¥R %2 n171% and he was a T¥2 for ¥ m7K 5 M —

mooIn concludes and strengthens his interpretation:
- 17550998 95 1199983 $99RT MY INTYN YT KAIT NOYA DIV RNYM

And now (that the mwn of 290 is discussing T¥»X) WIPNTIR °2 MMNY) it is
understood how the X nx attempted to resolve the other query of X239 that there is
nR7Y7 for Mz, for the query was regarding 7mR %2 MM (not "w "y mng) —

accomplished by adding a different case)
® This is the X3MX XY in the same K98 7"7 ",
? See footnote # 11 that we resolve from the 73w and Xn>™2 that X %2 ML pays a 1D 37,
' This is referring to the question how one can pay a 1913 w"1.
' Therefore we resolve the X°¥a of X271 that M7 pays 191n even if it was 79X and certainly before he was T9X.
There is no question how can he pay 1913 according to X" who maintains that he pays a w"1, for X"7 maintains that
Ny mmpna nan 7¥ and for that mnn 7% he pays 19, [However before he was 79X all (X" 7127) agree that he
pays a 191 1"1.
"2 However according to the first X073 in >"w that the case of 293 is by "W *"y Mm%, how can we resolve the
query of X211 (regarding X7 W MM1¥? ARTYA W) when X271 is discussing 7°77K °2 M7NX as MooIin will shortly prove.
Even though there is "11°w >"y nx% ax7va (according to X"1) that cannot prove that there is ax7va for > nny
7R (for oK 3 is like 931 where there is no nX7v7; see also later in this N190I1n). However later mooin concludes
that the query of 1X7vi1 ¥ is both by 717K °2 and "W *"y. See ‘Thinking it over’ # 2.
" See later footnote # 21.
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moon proves that the query of X217, whether there is MT17%¥% IRTYA or not, is regarding > MY
7R, and not by MW "y MT1IX:
= 93%Y KD YIINRT ¥YIWN NN DT NIDIN NPT IN 9INPTH ¥YNRWN 199

And this is also apparent since X217 states in one side of his query (that there is no
MES IRTY0); ‘or perhaps since MY is a ®377 7790’ there is no AX7Y7 (just as

by 237 there is no 1x7¥7), this indicates that we discussing n1119% without a »ow
(then it is a 9377 77910); however MW *"y MY is a 1PT 77210 not a 2317 777N,

mooin offers an additional proof that the query was by 717X °3 n10X:
- %9545 1Y 5115913 NN SANT P19 1998 YN Pnby 3191 19

And similarly there is also proof from the fact that the X723 cites the xn»92 of
VIR IR 0177 to resolve this query (of AXTYT); when the X713 has already cited
this Xn* 72 previously as a possible proof regarding the previous query of X211, whether
AN 2 M pays 199 or not.'” Tt therefore is apparent that the X3 assumes that both queries

of X237 (regarding 1913 and regarding 7X7¥7) are discussing 7°17K 2 MMIX and therefore brought
the Xn»12 of ©17°77 for both queries.

In summation; the case of 293 is by 7v°*X1 77X °2 M717X which proves that M1 (both 719X 2
NPW 0"YY) pays 1910, It also explains why w9 maintains that he pays a 191 "1 (since nnn 7
N ampna). It also is a (possible) resolution to the query regarding M 11%% 7X7Y7, which is also
by TR7IR 2 M.

mooIn challenges his assumption that the query of AXTY is by 777X 2 M717X:
= 9OY 21> DY 2999107 NIM (x,0° 97 IIPDT NI

And it is astounding to presume this! For later it is evident that s'X27 query is
regarding " "'y N1777X; we see this -
— 1191983 99 YW SYUN 29 *¥aT NN *3)
Concerning this which >R 239 queried; is there a "11°2 by M™19% to pay a fourth -
= NY PRT HYN ANTYN Y XA Y29 VIV 9IND)

4 qm,
'S The x 3 assumed (in both places) that it was 1>n71 017°7 making it M71¥. Therefore we assume that the npy7nn
whether he pays a "1 or a 111 (is by 79R) and they argue whether X% W nM17x? ARV W
1% mooin may also mean that 017°7 is 777X " (see 7"0 017" 7"7 2,1 °"wI).
' That query is definitely by 77X *> M1 for by "W *"y Mm% there would be no reason to assume that it pays 1
799, The fact that the X773 wanted to resolve it from 01777 proves the 0177 is also 19773, [Additionally if the query
of X211 (regarding ARTYT) is by "1 "y MM, how can we resolve it from 7°77IX > MMIY; perhaps by "°w *"y mMnx
all agree that X7y @ since it is (like) 77p.]
' 5x 27 queried if an animal was P with "1w *"y mx, does he pay a pr1 *xr (so MAMEY "W 1X) or does he pay
a pPry"n (so MRS W ).
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And the X3 said; ‘and let us resolve this query (of >wX 27 whether "1w w»
mMxY) from s'829 query whether there is 7XTY7 or not, inferring that there is
Nno "MW ; this concludes the citation from the X723 later. N901N continues with his question -

- Y05y D13 P 99299 NN 950 Y YW INT VI
The explanation of the X7n3x that we can resolve the query of *wxX 17 that "W PR
mxh from the fact that X217 queried whether mM1gY ax7va v is, for if we
maintain that P11 ¥°27% MMIxL M w5 how can it proceed from a P p921 to a
v P,

mooIn offers another source proving that X277 X°¥2 was regarding "MW °"y N1MIX:
= NN ARTYNA ININNDO NIPI NN INT YNRWN NI NIYN RN 7299 zom‘pb 129

And similarly later the X 3 asks; ‘but it is unusual’; indicating that if we

would establish their argument regarding X7v77 it would be understood; this -
= YN NPV 1T DY NIYT NOYAT YyIun
indicates that the query of 839 (regarding MM7X% ARTYA w°) is by M@ 2"y MAMx.

This contradicts that which m»on previously assumed that the query of n1Mx¥% nR7v7 W was
regarding mR *3 M.

Mo0IN answers:

1 This proposed resolution of *wx 277 ¥°v2a (that MM1¥? 1w 1K) from the X°¥2 of X271 (whether n117x? AR7YT @) is
valid only if we assume that the X°¥2 of 831 (whether M117¥% ARTYA w°) was regarding "w *"y Mm%, We can then
say, since X127 considered the option of M717% X7V w° (meaning that "11°w *"'y MY will have to pay a w'"1 [like a
7y1m] if there was a nX7vi) that proves that before the 7X7v the "W "y MMIX paid only a 11, because if "y MMNX
IR pays a P11 ¥°27, how could have X237 even contemplated that after he becomes a 7311 (for "1°w "y MMIX) he will
pay a w"1. This is unheard of; from a P11 ¥°27 one should have to pay a w"1! A 7v1 pays twice that of a an; not four
times! However if we assume that X277 X°¥2 was regarding 7°17X 2 117X only (but not " *"'y MM1N¥), what proof
is there from the fact that X327 considered the possibility that 717K 2 n717% would pay a w"1if 79X, to the query of
WX 11 regarding MW "y mMMx?!
20 a,m (regarding o993 7270w An2). The xm attempted to resolve the query of X271 (whether mMA1%Y XTYA W or
not) from the Xn™12 which stated that if a 7n72 defecated on a dough, there is a dispute between 7717 " (who
maintains he pays a 0w p11) and 219X " (who maintains that he pays a 1"1). The X7n3 initially assumed that it is
discussing a case of 79°X7 Mm% and they are arguing whether mM1¥% Ax7v7 w° (the view of ") or MM7XY ARTYA PR
(the view of &"1). The Xn) rejected this interpretation and said it was not 79X and they are arguing whether we
agree with N12m10 that M7 pays a "1 (the view of >") or we follow the view of the 1117 that M7 pays a 1"17 (the
view of X"7). The X3 then asks X7 1Wwn XM this act is unusual (that a 772 is 70°YY 22923 Y°n); so it is not MY
but rather it is 7@ (see *"wn there anwn XM 7"7), where everyone agrees (even 013M0) that he pays only a 1'm.
However the X713 asked this question only after we established that the np12rn between X" *"1 parallels the np17nn
between 71271 M0 (which is by 77X > MNX); the X3, however, did not ask the same question (X177 711Wn KiT)
when we established that their npY2nn depends whether ny111x¥? IX7Y7 w° or not; indicating that this query (of w»
MY aRTYn) is indeed talking by "w "'y mmx. [If the query is by 7°17IK > M717Y, the X773 should have asked &m
X7 7Wwn; how can *"1 maintain that he pays a w"1, for even if m717%% AXx7Y7 W that is only by 777X °> MY, but
not by "1w 7"y N1MIX.]
2! See previously in MooIn by footnote # 13.
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= INY IN ANTYN VU ON 2y NV 1IINAT AN
And it is the view of M50 that the query of 27 whether there is MM1xH ARV
or not, was regarding both cases; by 77X >> m1% and by "W "y MY -
= ARTYN Y NVY 1 DY D) 1NN 99 N8 ANTYN VI INT
For if there is 7X7TY7 by 07K 55 n1711x, there will inevitably be nX7Tv7 by
W 'Y PN -
- Brasns 193 xRty 1oy
Since the main rule of AR7Y:7 is written by 199 (which is a "rw >"y pri) -
= ANTYN PN MY 2T DY D) 1NINIIN 292 ANTYN PPN IN)
And (the same is true for the reverse, that) if there is no 87¥:7 by %7977 32 then
even by "W "'y m177X there is no IRTYT -
= BN 291 990 A NY ANTYN 2 bye
For (™MW >"y n1M1X) that went through 78TV is not better that 757918 52 nyMx
which went through ax7v7.

In summation; the X°'¥2 of X237 regarding M7%? ARTY7 W or not, is both by 7 rMX °> MM and
"W "y M (for they are interdependent). Therefore once we established the mwn of 275 by
7YX AR 2 MT10X we could resolve this query (since it is regarding 7°m7R %D as well) and
similarly we could resolve the query of *wX 27 regarding mM™17%% "W w° or not since the query of
X217 is also discussing "11°w "y M717X.

mooIn deals now with s°"wA objection to Md0IN interpretation that X277 X°v2 (regarding X7V W)
is (also) regarding 7K %0 NIMIX:
- AN 93 RNPINY 7Y XY DNTYN YT NowaT 09009p0 waw nm)

And regarding this which '@ explained that the query of 787Y7? w° cannot be

established in a case of 977N 2 MY, as >"w states -
— 59¥539 DP9 %9 119 NNYNY OYO 59 A1 DINTIN MNDT 19T

For since it is /o178, what difference is there if it is the first time or the fourth

time; therefore >"w assumes there can be no A7V by 7 A7MK —
moon, however disagrees with this premise

2 mpoIn (perhaps) means that even though the original X'¥2 of X271 was by 77X *> mMnE [since he said (on the side
MMYY aR7Ya PR) that X7 2317 77210]; however X211 understood that whichever way we will resolve the X°¥a by
TR 2 MY, the same result will apply to 11w "y n1Ix.
> It would be difficult to assume that by 7R *> M 1%, which is a 9317 77210 there is the concept of 7X7y7, but
there is no AX7Y7 by "W *"y MMIX which is similar to 77p.
* The ax7971 by "W *"y MMME can only accomplish that now it is considered 71X *3, so if by I *3 MMX there
is no X7V (and he pays a 1"1) the same would apply to ¥R 1w "y MY that there is no ARTYA to pay a ¥"1.
» See the (very) end of X9X 71"7 2,7 *"w (the first X9X).
26 5"y actually states “32°T 783 *2 79 RIT TR 0D 0.
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JANTYN 153 XY Tt 98N 199 NN D971 1199 NI NITID INY
It is no refutation; since 77X 2 MY is similar to 199, in that it pays a 1''n,
therefore X757 is applicable by m 1z even if it is 7K.

SUMMARY

The X713 intends to resolve the query of X217 that MM7X pays 191 since the Xn*>72
states that it is 1913, and the Xn>72 and the mwn of 175 are discussing > MY
TR AR (and TYOR XDT MM certainly pays 1012). We can also resolve the
query whether mM1%% nX7Y7 W or not; according to X"7 who requires a w'"3
payment there is NT17%% X7V but not according to the 13127. The query of Ry W
is both by 7rX °> and "W 2"V,

THINKING IT OVER

1. mBoIN asks on *"w7D how can we derive that 7 MMR "> MY pays 1D since
AW 'Y MR pays 19W1; perhaps MR D MOME pays 79V 1, but "y MmNy
11w pays 101 on the mnn 7% which N1 ypna.”® However, according to the 7127
who maintain M11x% 877 7R, which we derive from the same m1wn (as the X723
states on the 2 71733]),29 there 1s no N7V PR NN 7, since it 1s still a an. What
does MO mean with N7 PR nnn 7821 3

2. According to the conclusion of N0 that the query regarding MMI¥> AX7YT W°
is both by 7°n™X *2 and " *"v;>' can we resolve that query if we maintain that the
mwn of 275 is in a case of Ty»X) "w?

% We would understand the 7R7v7 (not necessarily that it makes it 717X °3, since initially it was 7°77IR °3, but
rather), that just as the 7710 taught us that the 1" of a on becomes a w"1 after three times, similarly the 1" of nM117x
becomes a "1 after three times.
% See footnote # 5.
* See also in the ‘Overview’ by footnote # 3.
% See yw *10 and V3 MR AT ONY A
3! See footnote # 12.
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